TCL

TCL R ERARGERAFEES
RFRIRE 5 B BB a8 1S A5 = PR
A~ N Kt

TCL BEEABRBARAFREFXEBRARIEAETATREL. HEH
M, BEERRCHR. RFUEFRERE ERER.

TCL RHESEIR A IA R LR R4 7™ BRI 2S940 35K
VR K Pl R — M1 4 R ) 8 R T S ok SR R B
HIRAR 205311% R, FERLA AL 35 44 (5) e ik i R 47 I
WEAERER S AT HRRARRE S,

NI IRASIRAE Gy R BEAT » F ORB a7 S B R A a3 A AR G 1 A A AL
NAIRAE Gy FE 55 -

Ly BSHE H G SRR 23 AR A DR A AT BR DA 2 W] A IRAE 5y (KA AL 55 ot i)
2+ BSAR AL ST 5 YRR T 355 Bl AR IR AE 5 IR A St )

3. W9 R T 55 B CREIR B A 0K 1 AR 5 B B THHLA
4. BRI THINESS A CREIARIE AR A IRAZ 55 14625 B o
v HEIRIINAFIBRBE - VPG AT PR mUONAIRAE 53 KPP LA o

9}

B EIREEIR A, A FIARIRAL 5y A AL B BRI AT RS Ho At 28 =5 LA B
NI

KRB
TCL B} 4 B e A R~ ]

HH
202543 H3 H



